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10.

Mathenatics Revision Exercises

Indices
Simplify the following;-—
a) x= X x= b) e X &= &) d® X d—= d) (=i
Simplify the following (leaving answers in index form)j;-—

a)  x® -+ x> b) 4e + 4-= er y2L o yEE d) T X o=

Express the following in index form without using brackets;-

al (3=2)= b) “4=)= c) {(p==)—1e d) (d+)4 @) {xenye
Express the following without using brackets;-—

a) (xy)= b) (2x)= cy (3x)= d) (2xy)= e) (xZy)=
F) (xZy2)2 g) (3y=)2 h) (4xZy=)S §) (a® X a= > j) (x~2 X

Write the following in a simpler index form;-—

a) 3* X 3°= b) 4= X 4= gy (gr=y== gy (4g9=pad

el 282 22 ) Br 5O Q) (4—3)= i e
Evaluate;~

a) 16*7= by 27/= €y BySE GHTE- ] e) 4-r/=2

) (1/4)272  g) (1/8)S/3 h) 25172 i) 729243 j) 49-3/=2

Express the following in index formi-—

ek 2 _1
a) Ja (=D €)% d) 2/x e) J/xF
1 P i
) 3/b= g ey h)y 3/x= i) 4 I/x= iy 2

Express the following in numerator index form;-—

%> 1 = X 2 1 2

a) x7 B 2x @ x A Jx e 3ix ) x= + Jx=

Remove the brackets from the folliowing;-

@) WEIR(IFEAP) b¥ 273 kx+xT2) ) RFLSRFLSox 14H)

d) (x*7/=+1)=

Express the following as a sum or difference of terms;-—

X2+ x+] {x+3)= R4—=2x2+4 bttt
a) X =} S gy 2x= d) y L2

xF) =1
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ANSWERS

l.a) x=® B) ¢7 ) 1 d) o=

2.a) x* h) 41° ¢) y d) gt

3.a) 3 b) 42 c) p=° d) die e) x

4.a) x=y2 b) 4x*= c) 27x% d) 4x2
gl gy~ h) b4xey? i) a i) x=

S5.a) 37* b) 4™ @ 8% d) 929 @y 2

&.a) 4 by 3 gy 2 d) 4 e) 1/2
i) 81 3y 1/343

7wa) als® By x“rAE o) dxFarz oy (/2
Fy BPEE gh w748 h}y x—=223 ) 3/4

8.a) x== b)) 1/2 x7* ) 3Ix d) x*72

F.a) x+2x172 by 1+x7=  g) xZ-x d)

10.a) x+1+x7% b)) x+6+9x~* ) 1/2 x

s0

Y= ) xByS  f) x9ys
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17
1/2

G
1432 hy

g=a

Q)
) 1/5

g

RAAE @) LS

e

8) 2/3 R=TS2 Ey
X+2xP /241
2142y

x—1s> 1/2 x5

XTEAR2x I/ 2

d)

X—teg—=

Summary

Fundamental identities for p, g€ Q
1 a’ xat=aP*¢
AP gi=ght
(@?)7=a"

(aby=a"

Hllustrations

—2_ 3

a*xa t=a

.yx X

823 = \/82




